Copyright Lappset Group Ltd

S LAPPSET.

FINNO

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 29.11.2018

137055M

\/«n/@/'i/i

I8

f‘
I
e
| 2 ot
—

)
««««




Copyright Lappset Group Ltd

#® LAPPSET.

FINNO

137055M

DATE:

29.11.2018

EN/AS Impact Area 104.3 m2
Grid size = 500 mm

+ + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + +
o
+ + + + + + %
N
+ +
o
o
D + + + + +
+ + + + + + o
o
o <]
bes) + + + + + 4
©
A\ o
+ + + + + + o
<]
+ + A + + + + o
o o o N
o © o )
o] a4 + + . oF + [ee] M
—
[} + + + + + + o
o o
00 00
o o ;J
3 = . e
o
iy S
n
+ + + + + —
+ + + +
(@}
o o
> + + + @
Te]
N
+ + + +
+ + + + +
+ + + +
+ + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + + +
+ + ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ H ¥ ¥ +
+ + + + + + + + + + + + + + f + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +




#® LAPPSET.

137055M

DATE: 29.11.2018
EN/AS Impact Area 104.3 m2
1100
- Falling Space 108 m2 0 5m
Max Falling Height 1970 mm
9610
o
S
8
1000
T =
s N/ L]
S 1500 \
1500 o
T 1110
=+ ‘ ‘ 1500
3 5
o =

Copyright Lappset Group Ltd

12600

12800




% LAPPSET. 137055M

FINNO DATE:  20.11.2018 5A

Copyright Lappset Group Ltd

1:60
5 B ——r — | (e
Dum o8 H mmmnu uummn mugﬂ % j
: E ? ED DE HE gl
I I T & @ %8 g o
T Bl - 8
HE=E TH T NI
TE A i I i il i i
i) i) T I o7 of
1:60
+3820
+3320
+2720
/ 8 e
/ %8
Be | — 5 B|[ 8w o, ¥ +1970
B a == o
Y IT |l hIN I | Hd!w E{ H +147o
= - K
’ =EIE—= / 11
+870 ==
M p—r—d .
é
i Y i Tr i T I +0
[un ) T [} [un]




Copyright Lappset Group Ltd

% LAPPSET. 137055M

FINNO 6
DATE:  29.11.2018

DET 10

AR/ (/g




Copyright Lappset Group Ltd

8 LAPPSET. 137055M
FINNO DATE:  29.11.2018 6a
DET 1 DET 2
JEx90
(903093)
10
/§
P
=ga)
905104
L —
DET 3 DET 4
Out Side Pre—drill
100] hole.
/ 26 ] 60
S =
Ex90
(903093)
]
DET 5 DET ©
L] m1oxs0
O
[QV

W\
\\\\\\\\\\\\j%i>
&5




Copyright Lappset Group Ltd

8 LAPPSET. 137055M

FINNO

DATE:

29.11.2018

6b

DET 7

8x /0 ,lm
@X@Qmﬂj\\g§§§7 N

907688

DET 8

907694

@3x /0
(900240)

DET 9

9051035

12x100
(909224)

DET 10

/x40

(980128)

024 /13
(980154)
s er e 900158
0 /x60 ) 6x60
R (98@&3@
[ 905196
) /—

- /06453




8 LAPPSET. 137055M
FINNO DATE:  29.11.2018 6c
DET 13

%) 6/83 4

Copyright Lappset Group Ltd




8 LAPPSET. 137055M TOWER A

FINNO 7

DATE: 29.11.2018
706428
x4

DET 7
Out Side
f' 1L
907688 |
X2 =

DET 4-6

el
-
s
77//

=N

iy

DET 8

{

U
907694

a==am=;
%Z%//

Copyright Lappset Group Ltd

+2620
+2600
+1600
=
+770 || +770
RN
+350
+0 ¥
[T IT IT [T IT
LT




8 LAPPSET. 137055M TOWER B

FINNO DATE: 29.11.2018 7a

\4/\\—>

o

Qut side

@ 1: 20
M IHGOO +1550 i M
+770 +770
? ] i +0 +0
I1 I1 [T T

Copyright Lappset Group Ltd




#® LAPPSET. 137055M TOWER C

FINNO DATE:  20.11.2018 7b

706428 ~ 706429
x2 { 4;> x7

DET 7

907688
X2

DET 4-6

C B
\/
4 DET 1 D/\

N

(

706439
x8

(-
(
CEY

A

+3220
+3200

W W +1370 +1370

100

+170
| +0 _+0

Copyright Lappset Group Ltd




8 LAPPSET. 137055M TOWER D

FINNO DATE: 29.11.2018 7c

907701
x6

DET 2

@ 1: 50

+3220
+3200

+2150 Il o +2150

ol ol b .

100

+170 +170
+0 +0

Copyright Lappset Group Ltd




8 LAPPSET. 137055M TOWER E

FINNO DATE:  20.11.2018 7d

(706429
- 7

+3220
+3200

720
:j
ﬂ

+1370 W W +1370

100

+170 +170
+0 +0

Copyright Lappset Group Ltd




#® LAPPSET.

FINNO

137055M

DATE:

29.11.2018

TOWER F

Te

706428
x4

x4

(/

706429)N—

R V]
A AN Sy

DET 8

DET 13

907694

100

1:40

+3720

+3700

+1870

+870

%0

]
o &ﬂ ﬂﬁ
I
~
. 4 +1870
ur
o
~
0
O
T
N
T8
S +300
o
0
) +0

Copyright Lappset Group Ltd




#® LAPPSET.

FINNO

137055M

DATE: 29.11.2018

Tf

120

Copyright Lappset Group Ltd




#® LAPPSET.

FINNO

137055M

DATE: 29.11.2018

g

Copyright Lappset Group Ltd

\
@

X2




137055M

DATE:

3 LAPPSET.

FINNO
29.11.2018

A

Ner
i A

=
\

[N

il

Max Falling Height.

Copyright Lappset Group Ltd

L0

\

ghrg ﬁﬁ \\< ?@ ;. ;| [N . N
3 g 'E% ﬁm@%n!i;ig \ &¢¢¢%?€/¢f
02 | - i
N ]

706873




A10153

% LAPPSET.

FINNO




% LAPPSET.

A10153

Copyright Lappset Group Ltd

FINNO 3
DATE: 28.4.2017 a
707918—701|pcs 900240 |pcs 903533 |pcs 905086 |pcs 905112  |pcs 905805 |pcs
14 6 4 352 6
@8x70 SRL12 ?44/13.5 BLACK @22 BLUE
905815 |pcs 905825 |pcs 905831 PCS 905850 |pcs 905859 |pcs 905860 |pcs
6 8
BLUE BLUE BLACK 6x80x850
909205 |pcs 909248 |pcs 909274 |pcs 980150 |pcs 980151 PCS PCS
' 144 4l 8
5 S
=) b
- \-/
8x60 M12 8x30 M8 @16 /8.4
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




A10153

4a

% LAPPSET.
FINNO

p3}1 dnoug jesddp jybrkdon



Copyright Lappset Group Ltd

#® LAPPSET.  A10153

FINNO DATE:  28.4.2017 4b
DET 7 DET 7 DET 7
Q
@)
j o|
DET 7 DET 7 DET 7

905860

905859
\. 016 /8.4
MS




% LAPPSET. TUBE INSTALLATION GENERAL

PLATE AND RINGS

FINNO DATE: 1.6.2016
DET 1 DET 2
905112
D
- . M8
- (980150)
TUBE 905831
706512
Boom
Out Side |
; 905112
=)
DET 3 DET 4 M8x60 905112
905112 (909205)

9058351

M3
(980150)

9051172

DET 5 DET 6

AP M8
Hi— (909208)

MBx60

(909866)

 88x70
900240

Drill through the

holes you need

- 900851 Plug the hole

what you don’t need

Copyright 1998 lLappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

A10153

DATE: 28.4.2017 5 a
05815 905805 905825 9056825 05815
905815 9058095 905825 905825 905815
905805 905815 905825 905825 905805
905805 905815 905825 905825 905805
905805 05815
905805 905815
905815 905805
905815 905805




Copyright Lappset Group Ltd

#® LAPPSET.  A10153

FINNO DATE:

28.4.2017

6a

Esimerkki putken kokoamisesta
Example of installation

LIUKUPINTAAN EI SAA TULLA
LAPINAKYVIA MODUULEJA!

NO TRANSPARENT PIECES ON
SLIDING SURFACE!

REIKIEN NUMEROT
NUMBERS FOR HOLES

@ @

905850

Position of the box: 29 degrees




% LAPPSET.

FINNO

A10153

DATE:

28.4.2017

Valmiiksi kasattujen osien osakokoonpanot ja vara-osa listat.

Ready installed component subassemblies and spare part list.

7a

Copyright Lappset Group Ltd

=7

05815
905815
905805
905805
707918—701  [909205 x &  |980150 x 8
gﬂ o .
905831 x 32 |909208 x 16 |909119 x 16
\ @ =/ M
909252 x 13
05815 ﬁ
905815
700413 x 1
905805
905805 D
909205 x 16 |980150 x 16 |905831 x 32
909206 x 8
= ® §%E
905850 909208 x 8 |980151 x 8
Ay @

Position of the box: 29 degrees




% LAPPSET.

HPL

WALLS 4 points

Copyright Lappset Group Ltd

DATE: 29.3.2016 1(2)
T (1) 903176 |pes|(2) 909850 |pcs|
PN 4
o N\ <Y
DET 1,2 ||fS] W
| wexes | ]
(3) 909256 |pes|(4) 909633 |pcs|
oy
016 /8.4x1.6 | | -
(5) 980123 |pes| pes
4 -
o7x60 | | N
PCS PCS
uf - .
Uﬁ =
J
D’ — —o
0o
0a 0o
O
0a 00
8 0o DB _ u’l\)
~ o (@[] —
3 =
[T
800




8 LAPPSET@ WALLS 4 points

Copyright 1998 Lappset Group Ltd

HPL DATE:  29.3.2016 2(2)
g v DET 2.3 N DET 2,3
5 al f Al
g ' Sl ° off
~ ) q ®
®
®
®
1 il 1 1
DET 1 YEN DET 2 |
(909850) 903176
216 /8.4 g‘ O 7x60
(909256) 1(980123)
10mm plate M8
(909633)
DET 3
MEx25
<90985O>9[l3ﬁ76
216 /8.4
(909256)
15mm plate \ M8
(909633)




% LAPPSET.

FINNO

FLOOR

Copyright Lappset Group Ltd

DATE: 28.11.2014 1(1)
(1) 008986 |Pes|(2) 706443 |pes
1 2
IR - 2]
NS — —
i 750x750 32x45x702
s (3) 900240 [pes|(4) 980101 [pcs]
8
DET 1,23 28x70 24.5x70
PCS PCS
PCS PCS
PCS PCS
DET 1 DET 2 DET 3
Naulanauha kannatinlistan puole|le.
04.5x70

1

(980101)




% LAPPSET.

DIAG. FLOOR

Copyright Lappset Group Ltd

FINNO DATE: 28.3.2014 1(1)
(1) 008985 |pes|(2) 706508 |pcs|
1 3
32x714x714 | | 32x45x650 | |
(3) 900240 |pes|(2) 980101 |pcs|
6
DET 1 9 =
DET 2 o8x70 | | wa5x70 | |
DET 1
DET 3
U¢ %
N
WL ?8x70
UJ (900240)
DET 2 DET 3
/706508 @4.5x70
(980107)

(900240)




3% LAPPSET.

BOOM

FINNO DATE:  21.3.2014 1(2)
o~ (1) 706510 $@ 907724 ?
M / ” J
45x120x1030| | ]
(3) 905083 |pcs|(2) 909866 |Pes|
4 4
DET1 -3

e

232 M8x60
(5) 980151 [pes|(6) 980150 |Pes|
4] 4
=\ |

‘ ©)

| @
o16/8.4 | | -
(7) 905112 |pes|(8) 900240 |pes
i i

222
BOOM OPTIONS
706510 706510-602  DARK BROWN
T T I 706510—-605  LIGHT BROWN
706510-604  LIGHT GRAY
45x120x1030

Copyright Lappset Group Ltd




% LAPPSET.
FINNO

BOOM

DATE: 21.3.2014

2(2)

DET 1

DET 2 M3x60

(909866) /
S A

(980151)
M8

(980150)

90//724

905112

DET 3

=

[\

Q

Z]
B8x /0

(900240)

Copyright 1998 Lappset Group Ltd




% LAPPSET. TUBE INSTALLATION GENERAL

PLATE AND RINGS

FINNO DATE: 1.6.2016
DET 1 DET 2
905112
D
- . M8
- (980150)
TUBE 905831
706512
Boom
Out Side |
; 905112
=)
DET 3 DET 4 M8x60 905112
905112 (909205)

9058351

M3
(980150)

9051172

DET 5 DET 6

AP M8
Hi— (909208)

MBx60

(909866)

 88x70
900240

Drill through the

holes you need

- 900851 Plug the hole

what you don’t need

Copyright 1998 lLappset Group Ltd




% LAPPSET.

706539

FINNO DATE: 8.6.2016 1(1)
DETAILS IN TUBE INSTALLATION GENERAL PAGE (1D 905112 [pes|(2) 900240 [pes|
112 26
DET 5 — Y ]
|707918
905829 ) - -
@22
(3) 903533 |pos| pes
8 ) )
SRL12 | | o
(5) 909205 |pcs| pes
40] 32]
)
o
M8x60 | | M8 |
(7) 909866 |Pes|(8) 980150 |pes
40]
M8x60 | | M8 ]
() 707918 [pes() 905829 |Pcs|
& |8 ./i 4
20x275x640 ] Transparent ]
(O COLOR |pes|
' i
707918 COLOR OPTIONS
—701 BLUE —705 GRAY
—702 YELLOW —706 RED
—703 LIME —707 GREEN
—704 DARK GRAY —708 FUCHSIA

Copyright Lappset Group Ltd

800

1135




% LAPPSET.

FIRE POSTS

Copyright Lappset Group Ltd

FINNO DATE:  8.6.2021 1(2)
(1) 900240 |Pcs|(2) 900342 |pes]
(i 4] 12
o DET 1 <
Il o8x70 | | Mexi6 | |
(3 901900 |pes|(4) 901939 |Pcs|
| "‘\»)ﬁ | |
I )
k<l B
§> 907695 20.5x36.2x56| | M12x70 | |
/ —T (5) 909850 |rcs|(6) 980150 |pes
L— . |
1 1
DET 2~ = [
) W \
or M8x25 | | M8 | |
(7) 901182 |pes|(8) 901902 |Pcs|
1 2
B B
— a
L Or L L
L 211 /M8x40 30.7x60.9x100
U 907829 i i
~ 0 0T
DET 3
PCS PCS
Nl _s03 B B
e -
3 i i
+1870
| (O 907829 |res|(C) 907698 |Pcs|
1 1
033,7x1454 | | ©933,7x2054 | |
(O 907817 [res|(0) 907695 |Pes
1 1
+0 ] ]
n i I %
340

@33,7x2554




Copyright 1998 Lappset Group Ltd

% LAPPSET.

FIRE POSTS

FINNO DATE:  8.6.2021 2(2)
DET 1 DET 2 901900
. MBx25 8
Pre drilling
@5 I 40 (909633)
N MEx16
NP /(900342
) .”\ @W )
%
90190727
907695 | «
211 /M8x 40
_ 98x/0 (901182)
(900240) e
(900342)
DET 3 DET 4
901600
901596
l é 901590
MT2x/0
T S (901939)
I ———p—




Copyright Lappset Group Ltd

% LAPPSET.
SURF. FOUNDATION

ROPE LADDER

DATE:

24.8.2016

4A

+870 +1470
\ n %]
- = Jr — X =
580 ‘ 910 ‘ it
+1970




Copyright Lappset Group Ltd

% LAPPSET.
SURF. FOUNDATION

ROPE LADDER

DATE: 30.9.2016 1(1)
(1) 905051 |Pes|(2) 903093 |pes
| 2] 10]
210 T 70 50 = @5@
@24/84 | | w8xe0 | |
(3) 909867 |Pes|(4) 909633 [pes
Sx G0 H H
NIEIIE %
PUERAUE
M8x70 | | M8 ]
Pesi(5) 908011 [ecs|
308011 - o
Q o o
Q Qo
le) .o . Q Q I —
5 o o Uy o s 0. o 10 mm
B (O 706566 |pcs|() 707917 |pes
NN T RN NN 1 il
> o > N s~ S )
N~ S~ = N~ = N S~ <> +a470 | +1970 |

ROPE LADDER OPTIONS

xXXxxx—301 BLUE
xxxxxx—302 RED
xXxXxxx—303 BEIGE
xxxxxx— 304 GRAY
ey xxxxxx—305  BLACK
XXXXXX—306 YELLOW
ATT |
CLAMP’s
holes
always in
a vertical
line
JEx90
(903093)




BASE

% LAPPSET.

1(1)

(1) 909531 |pes|(1) 909513 |pes

26.6.2012

DATE:

FINNO

PCS

PCS

PCS

(1) 902062

N
_l
Ll
()
/N
X
A
N—
)
o)
=
o
D
N
_l
Ll
()
o o O
s R I
Hig——— (10
=~ ®)
- \\\ ~
o o o o
— \\\\\ =
Ll
()

N1 dnogo 1ssddpa

L 1




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




% LAPPSET

SLIDE WOOD

SURFACE FOUNDATION DATE: 22.5.2015

1(1)

Copyright 1998 Lappset Group Ltd

>100

_
)
/]
ADOOZ O @) ) Eﬂ Qs Q.2 O 5 O O O
RN SN o 03 9¥ o g =

Concrete KA0O




% LAPPSET.

SLIDE

Copyright Lappset Group Ltd

SURF. FOUNDATION A 3.11.2017 1(4)
<>
DET 1, 3, 4
<>
S
DET 5
AN
™ 706452
- Or
J 706450
DET 1, 3, 4
901879
DET 1, 6
DET 7
DET 2
SLIDE OPTIONS
706450—-602 DARK BROWN
706450 706450—-603 LIGHT BROWN
706450—-604 LIGHT GRAY
706450-602 DARK BROWN
706452 706450—-603 LIGHT BROWN
706450—-604 LIGHT GRAY
WALL OPTIONS
706371-701 BLUE 706371—-707
706371 706371—702 YELLOW 706371—708
706371—703 LIME
706371—-704 DRARK GRAY
706371—705 LIGHT GRAY
706371-706 RED




% LAPPSET

SLIDE WOOD

80M DATE:  3.11.2017 2(5)
(O sube |pesi() SLIDE  [pes|() 706371 [pes|(C) 706505 [pes|() 901868 [pes|(1) 903093 |pcs|
H 1) 2l 1 [z 1) H
+1470 | | +870 | | 15x345x750 | | 35x70x730 | | @34x598 | | w@exe0 | |
(2 909876 [pcs|(3) 980100 [pos|(4) 980128 [pes|(5) 999561 [bcs|
2 F K-
M8x40 | | @5x60 | | @7x40 | | ]
0
901868 N
0 ‘\ ?
I \\\
\
L
706371
706505

Copyright 1998 Lappset Group Ltd




% LAPPSET. SLIDE WOOD

80OM DATE:  3.11.2017 3(5)
DET 1 DET 2
ST <fﬁ; : 7| ESIPORAUS
I . ~__— | PRE DRILL
O O \
v
D5x60 N 8% 90
5 (980100) (903093)
1
706505
— e 706371
O A , °
IS P \\ | .
RIS =
2.5 F
DET 3 DET 4
901868 99956
~ >
alfiNy
\s\
@7 x40
(980128)

Copyright 1998 Lappset Group Ltd

DET 5

(980128)




8 LAPPSET SLIDE WOOD

SURFACE FOUNDATION DATE: 3.11.2017 4(5)

pesi(6) 909509 [pes|(7) 909139 [pes((8) 980154 |pes|(9) 980128 |pes

2l OO 2] 2 4] 6
M

M12x50 M12x130 224/13 @7x40

901879

Copyright 1998 Lappset Group Ltd




8 LAPPSET SLIDE WOOD
SURFACE FOUNDATION DATE:  3.11.2017 5(5)
DET 7
901879 7 %40
/ / (98@28)
Insert sheet metal IN to the
plastic cover.
DET 8

MT2x1350

324 /13

MT2x20

Copyright 1998 Lappset Group Ltd




% LAPPSET

SURFACE FOUNDATION DATE:  13.8.2014

DIAGONAL SLIDE WOOD

1(1)

>100

Copyright 1998 Lappset Group Ltd

Concrete KA0




% LAPPSET.

DIAGONAL SLIDE WOOD

SURFACE FOUNDATION DATE: 21.9.2016 1(5)
=1 DET 2
DET 3
st} S DET 4
Ve
DET 1 ||||| \ \\
| \' \i
A
DET 5 ‘Q"/
0 Y
DET 6
DET 7, 8
SLIDE OPTIONS
706450 706450—602 DARK BROWN
+1470 706450—603  LIGHT BROWN
706450—604  LIGHT GRAY
706452 706452—602 DARK BROWN
+870 706452—603  LIGHT BROWN
706452—604  LIGHT GRAY
4=
—
(ol
3| WALL OPTIONS
(O]
- 706371—701  BLUE 706371—707  GREEN
& 706371 706371-702  YELLOW 706371-708  FUXIA
3 706371-703  LIME
£ 706371-704  DRARK GRAY
§ 706371—=705  LIGHT GRAY
S 706371-706  RED




% LAPPSET

DIAGONAL SLIDE WOOD

SURFACE FOUNDATION DATE: 21.9.2016 2(5)
(O sube |pesi() SLIDE  [pes|(C) 706371 [pes|(C) 907692 [pes|(C) 901868 [pes|(1) 909876 |pcs|
1 1| 2] T 2] 1| o |2
+1470 | | 4870 | | 15x345x750 | | | e3axses | | wmexe0 | ]
(2) 909256 |pcs|(3) 907727 [Pes|(4) 900727 |Pos|(5) 980128 |Pes((6) 999561 [pes
4 2| 2] ] B N L
v @
o16/84 | | Mox40 | | Mmiox80 | | o7x40 | | 109 | |

Copyright 1998 Lappset Group Ltd




% LAPPSET.

DIAGONAL SLIDE WOOD

SURFACE FOUNDATION DATE: 21.9.2016 3(5)
DET 1 DET 2
016 /8.4
| (909256)
100
_ MT10x80 @
%
Pre—drill =3 B7x40
hole. (980128)
@6 | 60 B
DET 3 DET 4
MT0Ox40 )
(907727)
MEx40
(909876)
DET 5 DET 6
N

Copyright 1998 Lappset Group Ltd

/x40
(980128)

(980128)




8 LAPPSET DIAGONAL SLIDE WOOD

SURFACE FOUNDATION DATE: 21.9.2016 4(5)
Pesi(7) 909509 [pes|(8) 909139 [pes((9) 980154 [pes|i0) 980128 |pes|
2 O & 2] 4] 6]
M
| wixso | | wi2xizo | | e2413 | | e7xa0 |

Copyright 1998 Lappset Group Ltd




% LAPPSET

DIAGONAL SLIDE WOOD

SURFACE FOUNDATION DATE: 21.9.2016 5(5)
DET 7
90187/9 07 x40
/ / (980128)
3\
4 |
5' (5‘
Insert sheet metal IN to the
plastic cover.
DET 8

MT2x1350

@24 /13

~_ M12x20

Copyright 1998 Lappset Group Ltd




3% LAPPSET.

706475

Copyright Lappset Group Ltd

FINNO DATE: 18.8.2014 1(1)
- (1) 706475 |pes|(2) 980128 |pcs|
o N 6
e
e
DET 1 — —
@7x40
(3) 909256 |pcs| Pes|
6 |
o16/8.4 | | ]
PCs| eS|
Pos) o)
OPTIONS
706475
1l 706475—602  DARK BROWN
706475—603  LIGHT BROWN
706475—604  LIGHT GRAY
305
+1470
o
=] N N\
)
. “<))
. N
o 9
o \
L (909256) \
1T 1 +0 N4
a00 2/x30 | 706475 / N\
(980128) >/"




% LAPPSET.

GAME WALL

M80 DATE:  4.11.2019 1(2)
(1) 903176 |pes|(2) 909850  [pes]
"]\ 4] 4]
DET 1,2
| wmexes ||
(3) 909256 |cs|(4) 909633 [Pcs|
8 4]
&y
016/8.4x1.6 | | -
(5) 980123 |pcs Pes|
4] |
*Note: o7x60 | | B
No gaps between:
3—25mm
89—230mm
COLOR OPTIONS
—701  BLUE
—702  YELLOW
—-703  LIME
—704  DARK GRAY
- —705  LIGHT GRAY
—-706  RED
~707  GREEN
1 —708  FUXIA
10 @] 2
9l - Ols
o ||IB 3

*Note

*Note

Copyright Lappset Group Ltd

800

800




% LAPPSET.
M80

GAME WALL

DATE:

4.11.2019

2(2)

GAME WALL OPTIONS

706766

706772

706308

707453

640x702

640x702

640x702

640x702

707209

705705

707433

707386

Copyright 1998 Lappset Group Ltd

\E

(909633)

640x702 640x702 640x702 640x702
709403 709358 709405
640x702 640x702 420x702
DET 1 YN DET 2
(909850)9[X5?76
@ |
316 /8.4 < 3 7%60
(909256) 1 (980123)
:
@ g




POLE

DATE:

% LAPPSET.

4A

(1) 901920 |pes|(2) 909628

15.5.2014

SURFACE FOUND.

PCS
4
PCS

o)
M10x100

150x130x130

DET 4

DET 1-3

drill hole

Pre

DET 2

)

10 90 (x4

DET 4

DET 1

MTOx100

DET 3

p11 dnousa 18sddoT jubiufdon




% LAPPSET.

RAMP

NET DATE:  16.6.2017 1(3)
(1) 701665 |pes|(2) 706873 [pcs
o 1]
/@ % N

/'/
L \ q DET 1, 3 | 4s5x05x555 | | 1455x505 | |
0 (3 706871 g@ 706872 ?
= \§\\\ ] — -
€S

N DET 5 | -

\‘/ DET 4.6 95x1005x1365/ | 95x1005x1365
(5) 902439 |pes|(6) 902474 |pcs|

1 1
706873 ] -

Left Hand Right Hand

PCS

(7) 909117 |pes|(8) 900240

M8x100 8x70
(9) 980123 |pes(i0) 980128 |pes|(11) 909256 |pes
Tj’ i 73] ihd
g |- =
L B B B
706871 @7x60 @7x40 216/8.4
DET 7
NET OPTIONS
706873 706873—301 BLUE
706873—-302 RED
706873—303 BEIGE
706873—-304 GRAY
706873—-305 BLACK
1455x505 706873—306  YELLOW
S| BOOM OPTIONS
3| 706871 706872
g 706871-602 DARK BROWN 706872—602 DARK BROWN
2 706871—-603  LIGHT BROWN 706872—603 LIGHT BROWN
3 706871—-604  LIGHT GRAY 706872—604 LIGHT GRAY
£
.9
s
3| 95x1005x1365 95x1005x1365




% LAPPSET.

RAMP

NET DATE: 16.6.2017 2(3)
DET 2
= & M8x100
902439 (908117)

S~__ 716/8.4
(909256)

égw\\ /x40
(980128)

— /016065

DET 4

Copyright 1998 Lappset Group Ltd

DET 6

8% /0
(900240)




% LAPPSET. RAMP

NET DATE: 16.6.2017 3(3)

DET 7 DET 8

\
1 /x60

(980123)

/x40
(980128)

®
> d
D d
D i 5
o
V

Copyright 1998 Lappset Group Ltd

600 980




3% LAPPSET.

DIAG. WALL

FINNO DATE: 19.11.2014 1(2)
— (1) 706448 |pcs|(2) 907696 |pcs|
1 4
g DET 1-3 ] ]
o 1
/@] 10x640x1003| | ]
ﬂ{—.—. i —706448) (3 909850 |pcs|(4) 909256 |pes|
86 g~ ), 4 4]
g e — <
Do 0 ‘
il[®] oo oo
00 0 | |
M8x25 216/8.4x1.6
l (5) 909633 |pes|(6) 980123 |pcs|
Il 4 dl
_DET 4-6 @
mMe | | o7xe0 | |
(7) 706898 |pcs| pes
il T |
706898
10x150x1003 | | ]
WALL OPTIONS
706448 706448-701  BLUE
706448-702  YELLOW
706448-703  LIME
706448-704  DARK GRAY
706448-705  LIGHT GRAY
-~ 0o S 706448—706  RED
00 Bo 706448-707  GREEN
o0 a0 10x640x1003 | 706448-708  FUXIA
oo, © S
g 0o S WALL OPTIONS
D b 706898 706898  DARK GRAY
| I |
il |
0 D 10x150x1003

Copyright Lappset Group Ltd

131




Copyright 1998 Lappset Group Ltd

% LAPPSET. DIAG. WALL

FINNO DATE: 19.11.2014 2(2)

DET 1 DET 2

M3
(909633) 216 /8.4

(909256)

907696

) Oi
» ©
/ M8x25
(909850)
DET 3 DET 4
M&
(909633) ©16/8.4
///// (909256)
@ . g 907696
Bl E
Q@QK -

@ /x60
(980123) M8x25
(909850)
DET 5 DET 6

@{:@@ 07x60
(980123)




% LAPPSET.

RIDGE ROOF

FINNO DATE: 16.11.2015 1(1)
706446 706447
DET 4 © %ﬁD 23
706447 :: i ] :::i ]
10x900x1100 | | 10x390x1100| |
(3) 907667 |pesi(a) 980123 |pcs|
2] 8]
| emxeo | ]
[ (5) 909256 |pes|(6) 909633 |Pcs|
TTN._DET 1 16 B
o Sike
o16/8.4 | | -
DET 1 DET 2

/06447

(909633)

216 /8.4
(909256)

DET 3

Copyright Lappset Group Ltd

Ay (909256)

sy

\ J/x60

(980123)

DET 4

/06446

90766/

)V

/

0644/

Va




% LAPPSET.

RIDGE ROOF

FINNO DATE: 27.5.2016 1(1)
(1) 706495 |pes|(2) 706496 |pes
1 1
il
SET 4
10x900x1900| | 10x390x1900| |
DET 2 (3) 907667 |pcs(4) 980123 |pos|
//////”///' | = -
4“"‘ i, §>Q§§% TT
/—" NH \. (Jé - o7x60 | |
1 4 (5 909256 |pcs|(5) 909633 [pes
T~ 24 12|
il N A L DET 1 24| 12]
/ [ —
o16/8.4 | | Mg | |
DET 1 DET 2

90/66/

i\
ﬂé!ﬁ!i
l! I

/06496

(909633)

216 /8.4
(909256)

DET 3

Copyright Lappset Group Ltd

sy

216 /8.4
(909256)

\ J/x60

(980123)

DET 4
/06495

907/66/

N

/

06496

Va




Lappset

Copyright

% LAPPSET.
FINNO

STAIRS +870

DATE: 28.5.2015

1(4)

770

DET 1, 2

\ 690

——




Copyright 1998 Lappset Group Ltd

% LAPPSET.

STAIRS +870

FINNO DATE:  28.5.2015 2(4)
DET 1 DET 2
® “\
I\
< M8
. il (909633)
o @~ M0 o | 024/8.4
® i (980152)
(905104) ey
(900859)
DET 3 DET 4
37 x40 ~,
Mark
@7 x40
(980128)
Mark

DET 5

055

3195

e b )

T =
/

DET 6

0 /x60
(980123)




Copyright 1998 Lappset Group Ltd

% LAPPSET.

STAIRS +870

FINNO DATE: 28.5.2015 3(4)
(+1445)
+770
_::: i +O
111 1
55
690
800




% LAPPSET

STAIRS +870

Copyright 1998 Lappset Group Ltd

FINNO DATE: 28.5.2015 4(4)
STAIRS OPTIONS +870
707191 707191-602 DARK BROWN
707191-603  LIGHT BROWN
707191—604  LIGHT GRAY
RAILING OPTIONS
RAILS 707146—701  BLUE 707146—707  GREEN
707146 707146—702 YELLOW 707146—708 FUXIA
707146—-703  LIME
707146—704  DARK GRAY
707146—705  LIGHT GRAY
15x145x1153 707146—-706 RED
POST 707145—602 DARK BROWN
707145 707145—603  LIGHT BROWN
707145—604  LIGHT GRAY
43x93x717
POST OPTIONS
(D 707191 |pes|(2) 707145 |pes|(3) 707146 |Pes|(4) 900859 [pes|(5) 905104 |Pes|(6) 909633 [pes
@ 5 |2 4] 2] 4] E
+870 | | 43x93x717 | | 15x145x1153| | Msxe0 | | M0 | | M8 ]
(7) 980123 |pes|(8) 980128 [pes|(9) 980152 |pes| pes pes Ps|
18] 15] 2] - - -
@7x60 | | @7x40 | | @24/8.4x2 | | ] ] ]




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET.

BRIDGE

Copyright Lappset Group Ltd

FINNO DATE:  24.8.2015 1(3)
DET 1, 2 (1) 706453 |pes|(2) 707255 |pes
. S 2]
15x145x600 | | 45x120x2480| |
(3) 707260 |pes|(4) 905083 |pcs|
§ M i ) i
‘ 2375x600 | | @32 | |
(5) 980151 |pes|(6) 909232 |pcs|
U il 4
Y
DET 1, 4 § § o16/8.4 | | sx20 | |
(7) 905112 |pes|(8) 900240 |pcs|
4 16]
- @22 | | esx0 | |
(9) 980123 |pes|i0) 980128 |pes
DET 1, 2 — —
E 201
o7x60 | |
(17 980150 |pcs




% LAPPSET.

BRIDGE

Copyright 1998 Lappset Group Ltd

FINNO DATE:  24.8.2015 2(3)
1: 30
oy = o = o
I {
I {
== == == == ==
AR i i 1 I
1 2400 1
1: 30
(@
g
[(e
Vi i 1 1 1
\ 2320 \
NET OPTIONS
707260 707260—301 BLUE
707260—-302 RED
707260—303 BEIGE
707260—-304 GRAY
707260—305 BLACK
707260—-306  YELLOW
2375x600
RAILING OPTIONS
707255 707255—-605 DARK GRAY 707255—-609 GREEN
707255—-606 GRAY 707255—-610  YELLOW
707255—-607 RED 707255—-611 LIME
707255—-608 BLUE 707255—612  FUXIA
45x120x2480




8% LAPPSET.

BRIDGE

FINNO DATE: 24.8.2015 3(3)
DET 1 DET 2
o i in side
Lk
Sx120
909232
{ S <j\ 9
O ~ 905112 yyf
N o Ny
i -
= {_J : . (980151)
m 905085
DET 3 DET 4 \
N NN
/x40 e \ N
C%@U%>\\\ e 7 T X
B7x60 \ | / <N
. )

/

DEX/
(900240)

)
A
( ':A/
&

Copyright 1998 Lappset Group Ltd

MBx4> -

(901899)

DET 6




% LAPPSET.

FINNO

DESK BRIDGE

DATE: 25.8.2015 1(2)
(1) 707255 |pes|(2) 707265 [pes
2] 2]
45x120x2480| | 2375x600 | |
(3) 707266 [pcs|(4) 707267 [ecs|
2|
20x584x895 | | 20x584x495 | |
(5) 909232 |pes|(6) 900240 [Pcs|
4] 8]
8x120 | | 870 | |
(7) 980123 |pes|(8) 980128 |pes|
20] E 10]
- | exe0 | | o7xa0 | |
(9) 909868 |[pcs|20) 980150 |Pes|
120]

s/

[ ]
- - - .
(2) 980151 |Pes|29) 905083 [pes
4 4 |
o T o oo o | |

o 16/8.4 232

N
n, {1
b dr—r e 23 905112 [pcs| pes
= 4
n —A —A
(= ==] N==N = = :

o2 | | B

Copyright Lappset Group Ltd

2400

PCS

PCS




% LAPPSET. DESK BRIDGE

FINNO DATE:  25.8.2015 2(2)

DET 1 DET 2

Note:

in side 0 /x40 w
Sridge (980128) "\
8x120 o |
@7x60

(909232) S
905112 =

== pe
216 /8.4

(980151)
9050853

DET 3 DET 4

Copyright 1998 Lappset Group Ltd

(900240) (909868)

BOOM OPTIONS

707255 \ 707255—602 DARK BROWN 707255—-608 BLUE
707255-603 LIGHT BROWN 707255-609 GREEN
707255—-604 LIGHT GRAY 707255—-610  YELLOW
707255—-605 DARK GRAY 707255—-611 LIME

¢ 707255—-606  GRAY 707255—-612  FUXIA

45%120x2480 707255—-607 RED

NET OPTIONS

707265 707265—-301 BLUE

707265—-302 RED

707265-303 BEIGE
707265—-304 GRAY
707265—-305 BLACK

L ® 707265—-306  YELLOW
2375x600




% LAPPSET.

FINNO

PLANK BRIDGE
1(3)

DATE:

30.10.2019

(1) 707255

(2) 707259

PCS

Copyright Lappset Group Ltd

i 2]
45x120x2480| | 2340x800 | |
(3) 707262 |pos|(4) 980123 |Pcs|

1] E 140]
| e7xe0 | |
(5) 980128 |pes|(6) 909232 |Pcs|
E 128 4]
@7x40 | | 8xi20 | |
(7) 900240 |pes|(8) 980151 |pcs|
16] 4]

S
| ot6/8.4 | |
Pes|10) 905112 |Pcs|
4] 18]
o g22 | |




% LAPPSET.

FINNO

PLANK BRIDGE

DATE:

30.10.2019

2(3)

1:40

NET INSTALLING

Copyright 1998 Lappset Group Ltd

!
f 240
| i
7 il =7 o ‘[
3 B ( 260 Y
©
b o ) i~ 1 [ L1
280
11 11 11 11
2400
1:40
(@]
~
2 2
1T 17 17 17
2325
BOOM OPTIONS
707255 707255—-602 DARK BROWN 707255—-608 BLUE
707255—-603 LIGHT BROWN 707255-609 GREEN
707255—-604 LIGHT GRAY 707255—-610  YELLOW
707255—-605 DARK GRAY 707255—-611 LIME
¢ 707255—-606  GRAY 707255—-612  FUXIA
45%120x2480 707255—-607 RED
NET OPTIONS
707259 707259—-301 BLUE
707259—-302 RED
707259-303 BEIGE
707259—-304 GRAY
707259—-305 BLACK
707259—-306  YELLOW

2340x800




% LAPPSET.

PLANK BRIDGE

FINNO DATE:  30.10.2019 3(3)
DET 1 DET 2 905112
M8 (980150)
216 /8.4 (980151)
905083
%
PN
e %\/"(ﬂ
716 /8.4 (98m5w) d
M8x180 (900471)
900112
DET 3 DET 4
s
Mot 27 x40 .
In side m\ ™
8x120 (B
27x60 —

905112 i

— e
216 /8.4

(9807151)
905085

Copyright 1998 Lappset Group Ltd

DET 5

(900240)

(980123)

/x40
(980128)




% LAPPSET.

PLANE

FINNO DATE: 25.8.2015 1(3)
(1) 707271 [pes|(2) 707272 [pcs|

o DET 1 2] 4]
70x95x2480 | | 15x630x590 | |

(3) 980154 |pes|(4) 909224 |pcs|

4] 4]

@24/13 | | 12x1i00 | |

(5) 905103 |pes|(6) 980123 |pcs|

- 4] 124]
PT-28/32-H| | @7x60 | |

PCS

PCS

Copyright Lappset Group Ltd

DET 1

DET 2

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS




% LAPPSET.

PLANE

FINNO DATE:  25.8.2015 2(3)
1: 30
AR i 1
2400
1: 30
3
©
Vi 1 1
2325 \
PLATE OPTIONS
707272 707272—701 BLUE 707272—-707
) 707272—-702  YELLOW 707272—-708
707272—-703 LIME
707272—704 DARK GRAY
707272—-705 GRAY
707272—706 RED
15x630x590
BOOM OPTIONS
707271 707271—-602 DARK BROWN
707271-603 LIGHT BROWN
707271—604  LIGHT GRAY

&
70x95%x2480

Copyright 1998 Lappset Group Ltd




8% LAPPSET. PLANE

FINNO DATE: 25.8.2015 3(3)

DET 1 DET 2

;;i;;it>:t>// ' ) /x60
®9¢Q (980123)

905105 |

Copyright 1998 Lappset Group Ltd

12x100
(909224)
@24 /13
(980154) Nl
DET 3 DET 4
DET 5 DET 6




Copyright Lappset Group Ltd

% LAPPSET.

BRIDGE

FINNO DATE: 17.1.2018 1(5)
DET 1 (1) 707544 |pes|(2) 706685 |pcs|
2 1
DET 11
<
I DET 8-10 43x123x1775| | 20x413x615 | |
(3) 707541 |pes|(4) 707542 |pes
DET 5,6
DET 12
20x566x615 | | 20x414x615 | |
(5) 706698 |pcs|(6) 707551 |pes
DET 7
(7) 706710
DET 2 1 M
j 216x618 | | ©16x553x703| |
J (9) 707560 |pes|(i0) 905083 |pcs|
L " 12 10]
DET 3 u g)
G ] @32 | |
Pes|i2) 905112 |Pcs|
4 10
8x120 | | g22 | |
(13 900240 |Pes|i4) 980128 |pes((iD) 980123 [ecs| Pes(i7) 909256 |pcs|
193] 6 | 120 18] 14|
@w
v
@8x70 @7x40 @7x60 @8x50 1 6/8.4-
(18) 909633 |Pcs((i9) 909876 |Pes|20) 980151 |pes|(2]) 901104 [Pes|22) 980150 [Pcs|
6 6 10 . L8 52
\\}Q\\\\\\%\
@
M8 | | Mex40 | | woie/84 | | wMexeo | | V-




% LAPPSET. BRIDGE
FINNO DATE: 17.1.2018 2(5)

1: 20
o
~
~
13
o
©
~
+1870
o
N
i 2
o
>
¥
+1370
gg ;U\
== iﬁ\
= = I~ 706685
=)
NG
L
+0

\ L
800 \

Copyright 1998 Lappset Group Ltd




8 LAPPSET. BRIDGE
FINNO DATE: 17.1.2018 3(5)

DET 1

DET 2

(909876)

(980128)
0 /x60

Copyright 1998 Lappset Group Ltd

(980123)

905083
8x120 ,Vye I
(909232) ! )
=~ 716 /8.4
fo s=—  (980151)
305112 ° gw
016/8 4 © (980150)
(580151 T 905112
e ME DET 4
(980150)
DET 5 DET 6




Copyright 1998 Lappset Group Ltd

% LAPPSET"

BRIDGE

FINNO DATE: 17.1.2018 4(5)
DET 7 0870 DET 8
(900240)
— %@?ﬂ 210 (6x)
— / ‘ Boom
— | Center Line
=1 11K
— I - % V ol
= I[== % —ﬂr : | o
_ . } . o
= J o
- Ol O
O
1260260
DET 9
FLOOR

P

MBx o0

@10 ] @26 J, 7

MEx50
(909863)

216 /8.4
(909256)

M &
(909633)

WB8x /0
(900240)

(980123)




Copyright 1998 Lappset Group Ltd

% LAPPSET"

DGE

FINNO DATE: 17.1.2018 5(5)

BOOM OPTIONS

707544 707544—602 DARK BROWN 707544—608 BLUE
707544—603 LIGHT BROWN 707544—609 GREEN
707544—604 LIGHT GRAY 707544—610  YELLOW
707544—605 DARK GRAY 707544—-611 LIME
707544—-606 GRAY 707544—612  FUXIA
707544—607 RED

43x123x1775

ROPE OPTIONS

707551 707551-301 BLUE 706698 706698—301 BLUE
707551-302 RED 706698—-302 RED
707551-303 BEIGE 706698—-303 BEIGE
707551-304 GRAY 706698—-304 GRAY
707551-305 BLACK 706698—-305 BLACK
707551-306  YELLOW 706698—-306  YELLOW

@16x360 @16x280

SAFETY ROPE OPTIONS

706710 706710—301 BLUE
706710—-302 RED
706710—-303 BEIGE
706710—-304 GRAY
706710—305 BLACK
706710—-306  YELLOW

J16x618

NET OPTIONS

707550 707550—301 BLUE

" 707550—-302 RED
707550—303 BEIGE
707550—-304 GRAY
707550—305 BLACK
707550—-306  YELLOW

B16x553x703

NET OPTIONS

707560 707560—301 BLUE
707560—302 RED
707560—-303 BEIGE
707560—-304 GRAY
707560—305 BLACK
707560—-306  YELLOW




% LAPPSET.

GRIP

FINNO DATE:  18.1.2016 1(1)
(1) 900240 [pes|(2) 900727 [pes
1 §§§§§§ 1
| M _
3)
N | _
B M10x80
PCS PCS
. _ |
(3 907688 [Pss|(3) 907701 [Pes|
L 1]
765 B | _
PCS PCS
- PCS PCS
DET 1 ) __ __
Ox80
Pre—dril
100 Hole. | ___
ooz oo

M1
(9\77)%)

N

PCS

PCS

Copyright Lappset Group Ltd

SET 3

—

PRE—-DRILL HOLE.

St

870
(900240)

PCS

PCS

PCS

PCS






